



Calcola quale numero risolve correttamente entrambe le equazioni.

1) $\underline{\quad} + 3 = 8$
 $8 - 3 = \underline{\quad}$

2) $\underline{\quad} + 3 = 19$
 $19 - 3 = \underline{\quad}$

3) $\underline{\quad} + 2 = 6$
 $6 - 2 = \underline{\quad}$

4) $\underline{\quad} + 16 = 20$
 $20 - 16 = \underline{\quad}$

5) $\underline{\quad} + 8 = 17$
 $17 - 8 = \underline{\quad}$

6) $\underline{\quad} + 3 = 20$
 $20 - 3 = \underline{\quad}$

7) $\underline{\quad} + 7 = 18$
 $18 - 7 = \underline{\quad}$

8) $\underline{\quad} + 12 = 20$
 $20 - 12 = \underline{\quad}$

9) $\underline{\quad} + 2 = 17$
 $17 - 2 = \underline{\quad}$

10) $\underline{\quad} + 1 = 11$
 $11 - 1 = \underline{\quad}$

11) $\underline{\quad} + 4 = 14$
 $14 - 4 = \underline{\quad}$

12) $\underline{\quad} + 1 = 20$
 $20 - 1 = \underline{\quad}$

13) $\underline{\quad} + 9 = 18$
 $18 - 9 = \underline{\quad}$

14) $\underline{\quad} + 6 = 20$
 $20 - 6 = \underline{\quad}$

15) $\underline{\quad} + 10 = 19$
 $19 - 10 = \underline{\quad}$

16) $\underline{\quad} + 2 = 18$
 $18 - 2 = \underline{\quad}$

17) $\underline{\quad} + 10 = 20$
 $20 - 10 = \underline{\quad}$

18) $\underline{\quad} + 2 = 20$
 $20 - 2 = \underline{\quad}$

19) $\underline{\quad} + 2 = 9$
 $9 - 2 = \underline{\quad}$

20) $\underline{\quad} + 1 = 19$
 $19 - 1 = \underline{\quad}$

Risposte

1. _____

2. _____

3. _____

4. _____

5. _____

6. _____

7. _____

8. _____

9. _____

10. _____

11. _____

12. _____

13. _____

14. _____

15. _____

16. _____

17. _____

18. _____

19. _____

20. _____



Calcola quale numero risolve correttamente entrambe le equazioni.

1) $\underline{\quad} + 3 = 8$
 $8 - 3 = \underline{\quad}$

2) $\underline{\quad} + 3 = 19$
 $19 - 3 = \underline{\quad}$

3) $\underline{\quad} + 2 = 6$
 $6 - 2 = \underline{\quad}$

4) $\underline{\quad} + 16 = 20$
 $20 - 16 = \underline{\quad}$

5) $\underline{\quad} + 8 = 17$
 $17 - 8 = \underline{\quad}$

6) $\underline{\quad} + 3 = 20$
 $20 - 3 = \underline{\quad}$

7) $\underline{\quad} + 7 = 18$
 $18 - 7 = \underline{\quad}$

8) $\underline{\quad} + 12 = 20$
 $20 - 12 = \underline{\quad}$

9) $\underline{\quad} + 2 = 17$
 $17 - 2 = \underline{\quad}$

10) $\underline{\quad} + 1 = 11$
 $11 - 1 = \underline{\quad}$

11) $\underline{\quad} + 4 = 14$
 $14 - 4 = \underline{\quad}$

12) $\underline{\quad} + 1 = 20$
 $20 - 1 = \underline{\quad}$

13) $\underline{\quad} + 9 = 18$
 $18 - 9 = \underline{\quad}$

14) $\underline{\quad} + 6 = 20$
 $20 - 6 = \underline{\quad}$

15) $\underline{\quad} + 10 = 19$
 $19 - 10 = \underline{\quad}$

16) $\underline{\quad} + 2 = 18$
 $18 - 2 = \underline{\quad}$

17) $\underline{\quad} + 10 = 20$
 $20 - 10 = \underline{\quad}$

18) $\underline{\quad} + 2 = 20$
 $20 - 2 = \underline{\quad}$

19) $\underline{\quad} + 2 = 9$
 $9 - 2 = \underline{\quad}$

20) $\underline{\quad} + 1 = 19$
 $19 - 1 = \underline{\quad}$

Risposte1. 52. 163. 44. 45. 96. 177. 118. 89. 1510. 1011. 1012. 1913. 914. 1415. 916. 1617. 1018. 1819. 720. 18